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Complete on a separate sheet of paper.

How much candy do YOU eat?

Two teachers who teach 4th grade and 6th grade had surveyed one of their class periods concerning “how many pieces of candy they eat in a week.” 
4th Grade: 15, 0, 12, 22, 5, 8, 0, 1, 12, 10, 12, 3, 11, 9, 21, 6, 4, 2
6th Grade: 14, 9, 30, 18, 0, 14, 9, 5, 18, 12, 32, 11, 7, 0, 26, 20, 14
1.) Find the central tendency (mean, median, mode) for each grade.

2.) Find the range for each grade.

3.) Create a frequency table for each grade.

4.) Create a histogram for each grade.

6.) Create a double box & whisker plot using each grade (note, this is when you use one number line and place the box & whisker above the other).

7.) What is the interquartile range of each grade?

Note: Use a straight edge to make all lines straight.
8.) Which grade has the greater median of candy consumed?

9.) Which grade has the greater interquartile range of candy consumed?

10.) Which grade appears to have a more predictable performance (look at box & whisker plot)? Why?
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